o | wmieaE | FmicaE | FRIGEE | FRIEE | ERIER
BEBERL >OEH 3 7 1 1 1
WEREEED > DEH 6 8 17 4 0

WRIT& Y BE 2 5 2 0 0

T — [ wmisE | wRoosE | wRoaE | FRosE | FH3EE
BEBERN>OEHE 2 0 2 0 6
WERREED > OEH 2 3 3 2 6

WRIT& Y BE 0 0 0 1 4

T — [ wmousE | wRoseE | RocaE | FR27aE | FHSEE
REEERD b DEHE 2 2 1 0 0
BERBEED > DEH 3 3 0 1 0

WRIT& Y BE 3 3 0 0 0

[ wmomm | wRoosE | snnaE | SEE | SEE
REEERD b DEHE 2 0 2 2 1
BERBEED >DEH 1 0 2 8 0

WRIT& Y BB 0 0 0 0 0

\ SHUEE | HILEE
RaBRERMLDER 0 1
WEREEED b OEH 3 0

KRISE Y LE 0 0




